
llp6 rutr ru qp n rp.; n rtr N 19 /21 -2

(<U3r+bLU-q<UqaAl9/21> 6ru6\ruqpn{ ptrpurguqrunqh dngnUph hurtritlldn4n{fr trJrum[r
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1utt6budn4nlfi ub4utI'

1 wtt 6tt w d n 4n {fi uh r7w ['
1 uh 6b u d n 4n tllr tuh 4tu rI'

ulrlpn Ldurtr 9ur uqurplurL

Qnpurlp l.Iurp4[1utr

Untru Uurryutr

lwhdbwdnynqh putttttnqwJi L,rupfrtrb Duhpruqlrutr

1. (<U3qbLU-q<UrlAFJg/21) 6ur6l.1uqpnul rhgnUph qtrurlfrtr urnu2urplltrbpfr trbp!urlu:gtlutr,

qtruhrurndrutr urp4lnrtrptrbpfr huumrumrlurtr /rlpgnUph urp4lnrtrptrbpfr utlqhnrJrrlurtr/ duufrtr.

1.19trru1|rtrurnu2up!trbpqupnrtrru!nr16prrrptrbpppulg4btbtI<<
<(tultl btr u u mbfu ti nlnqfrur> 9U9 q n uq-h 2btrpnul gl n rpg urtr 1 4 h ur ugbn ul:

1.2. $trurlfrtr urnur2urpla btr trbpl.lrulurgpbl hbmlrlurl duutrurl.lfrgp.

U ru utr ur Uq h ruh rl utr n rrln 9mtrrlbtnr 4rulnn

L. <tlb4fruurp,, Urq0
11, p.bphutr, 9brnunJr 4/9

(bn. 010-38-06-09

2. oGUq (h[Iu UalC
11, p. bplrutr Lbtrftrqpur4l utlt 31 17,

(bn. 010 54-30-78

S{uilttbp 6puptrbpp Qruqrlblnr I Lbplullgtrblnr' uuhdurtrt{urb Uunqh qruhtutr2trbpfr

h urrlu rqu rn ur u fu urtr n rp1 utr du u frL.

1.3.1. [IuuLurLlgfr Unqrlhg trbptlllug{ru6 6nu,n0 !urqrl{u6 h hpur{bpn{ uruhrlutr{u6

14 u h uLgL bp f L hru du q ur m r.r.r u[u utr :

1.3.2. S[urltrbp 6n,rrnn dngnUph hpurr{bpnt{ uuhrlutrr.[ur6 qurhurtrgLbplrtr thurluqurr.nuufuutrblnL

du u frtr : Utr h ru rlur q ru rn u u [u ultr n rp1 n rtrtr bp 1 pur g ur 1.1 ur1 n rd hhl :

1.4. Srlultrbp purgr.{u6lnrpurpurtrlnrfr unru2ruplnul quhurLg{nq rrhuumupmbnh runLlulnrplrutr

duufrtr.

1.4.1. (<U3qbLU-q<UqaFJg/21> 6ubtlurqpn{ rlngnUph hpur{bpnr{ uurhrfuL{urd <ub4fruurp,

Urlc-t' [r (Guq (hU, Uqc-L rJruta latrpr{ub bpupLbpn{ trbpLlu4urgpbl btr' qtrulfrtr runurgupltrbp,

fttpLurpdbpfr hur2r{upL1 Lr hurlmurpurpnrplnrtr rlngnUph hpur{bpn{ uuhrlurtr{ur6 nputlur{npdurtr

luthtuLft2ttbp[L ftpbtrg hurnl.lurtrhZtrbnh hrurluqurr.nuufiuulnLplurtr tr qputrgrJurtr u{uhhg hbrnn

4nurLg urnl1ulnrp1urtr, frtrlqbu truLr hpu{bpn{ uurhrlutr{ub rnbfutrfrtaurllrutr hurrnlrutrfr2trbpfrtr

hrutluqumuufuurtr rlqprutrpfr rlu.rmurlurpuprJutr rftuufrtr: Fnlnp trbpqur.yurgLlu6 r.hurur.nurpmbnp



l4uqrl{fl btr plopfrtrurqhg U 2 opfrtrul.l qum6bL[g, ptropfrLu! rfurpbpnrrl trbpunr[ur8 pnlnp

qurrn6btr hutrrpfruugnq rJrururnurpqpbnh pnlnp hlbnl l4trp{u6 h urnnpuqp{u6 btr:

1.S.tJur utr ur t4g fr u nurgur n U ub qf L I (L bp. UU<).

2/P Uqprubp[t tubt[ulntfp
L, rulu ur hru2{u; [t qftt

((( 4prurl)

9tru;frtr unugup[hbn (<< r1nud)

tbp. UU(

<Ub4[uurp) UqC
(GUq (hU,

u'lc

1 hqnulpnquLnl 3000
2400 2800

2. r-rufinrdfr qbpuntl$um 2400
2200

3. n[ftfi1bpbp 15000
13500 12600

4. (bpurutr 27000
22500 19800

5. Plnpn$npd 306000
170000 149600

6. Urluppnr 24000
1 6000 11200

7, alqbdfr unrl$urrn 1000
1000 900

8. s4hb 80 40000
18000 36000

9. b n lq u p 66tlput pt{u L1 tutt s000
4000 4950

10. $nu$npulutr ppnt 2000
2000 1750

11 hpftlutgbunum 88500
70000 70800

12. 1-, u rn p fr n rdfr q1n rrn ur dur m 1700
1500

13. l-r u un pfr n rdfr dtu 1u r.n 3500

14. 9urfinrdfi unnFurm ; 1250
2500

15. kpft 1bL a[ u d]tL m bm p ugbm u r.n

(k+su;
48500

77000 42000

16. GppLgnrt4uppnt 1000
1000 800



17. Uqupp4h 0.11-, umutr4Lunm

mfrurpbp,
20000

16000 15600

18. Ugbmntt 93000
49000 52080

19. UgbtnnLbf mp[1 38000
35000 26000

20. 1,4-nfopnutr 36000
24000 23700

21. I urfrn uI $n u$np upp{ul.1 utt 3200
3100 2700

22. l.IurqtrbqfrnLrI 66rJpurpp{ur!uL 7
dnlb!nq gpnu[

350
350 280

23. (p u pfu rulfrtr r.h n2[/g bn fi p, 125000

24. UrInLf n uJ dnfr p4btru pp{u lull 16000
10000

25. Fnrputrnl 7600
15000 30000

26. UrlntrInnlfi ugbrnum 2500
2000 1800

27. Urlntr fr n rd 66d put pp{u L1 utt 7500
7500 6000

28. Iurfrnulf hfr4popuf4 4500
3590 3600

29. SnlnLnl 3200
3000 2400

30. Ufrfrrlupfrtr' 75000
49000 62000

31. Ufrfrpftrfrtr'
a

50000
33000 45000

32. UbilpuluL ppnt 22800
14000 7200

33. bnluph bnplnpfi4 600
600

34. 4lnnu{ht uqhfim' 4000
2950 3000

35. 'lu ur.npInrdfr 4n4bgfiun q$um 4000
35000

36. UrInLfrnulfr 4[h[4pn$nu$uu 1500
1500 1300



37, Urlntrfrnrdfr ptnnh4 700
680 700

38. UbpuLnl 14400
9920 10000

39.
1-r u rn p fr n ulf h ft 4popuf 4 14000

7000 4900

40. Purgrufu tirppnt uungulhL p.tJ. 13800
't1000 11385

41. Utufuupnq 8000
18000 15000

42. +lhgbphtt 6000
4000 5600

43. LIbluLfrtr 132000
95000 88000

44. /rlbpplnpuppnr 3000

45. Fd2l.1uL1uL uqhnLn 368000

46. $bLn1 360
18000

47. 'lu 
rumpfrnLdfr h[4pn$nu$urm 1500

1300

48. L urmpfrnrdh +hhh+nnSnu$um 3200
3200 2500

49. kugfrnulJt lltuppnLum 24000
't8000 19500

50. 2,2 4fr$btr fr 11 -q hLl nh th hrln urq.ht, 216000
't59000 160000

51. L-urulnppfrtrurppnt {f mudftL C
a

40000
40000 24000

52. {frmuilfb U urnurtr4urpm 2000

53. {frmurdfL Fl2 500000
38500

54. L ur rn p fr n uI rl n fr p4btt u pptltu L1 tutt 6400
4800

55. tlfirnrudfrtr P' 41000

56. rtfimturlfrtr F (frtrnlbLur ppn0' 40000
40000 39600



57. a Lnnl{n$bnn1 u[Lpbut[t1 12000
16000 25000

58. 9rufrnul[ Jn+hq 9000
6000 5600

59. U4pbtrurfiL, 5000

60. hLn{htr ' 80

61. UtIu{f'gfrhL 850

62. Sf qpn$lnpuurgh 500

63. 3b$urpIupunl,r 500

64. uqflppnd[g[tr 1000

65. Umpbqmnd[gfttr 900

66. 9ruLrurlfrg[tr 1150

67. 9urpInLdf B[nnhq 1500

68. G[udJrlr 1000

69. tr u r.n pfr n rdfr pfrn u n L1$utn ft
$frpurutrurl

5000
4500 4900

70, Ubp[1bL plnnh4 12000
9000 24000

71. L urr.npfrnrdfr t1uppnLum
$

3000
2400 2000

72, llurqLbqfrnrdlr unr1$urrn 7 gnn{ 1500

73. Uqup-Uqup 126000
112000

74, Ugurn 160000
156000

75. Uqurn 25000
21000

76. ugun 100000
90000



77. Uqu,n 65000
78000

78. Uqupnqu 80000
80000 79800

79. bqfrqmurgnpbLI bpuunnuLl Ln 12000

80.
C tupru p uutr [1 urt htr bpu rnp u L1 r.n 114000

81. UpquLul.l 35000
30000

82. 0!utru gnrpurlfL hf 4pnthq.umh
upquLul.l

74000
70000

83. 4lhnh+htr 30000
55000

84. Lurnpfrnrdh ptnnh+ 7500
3000 1950

85. 9gnrl.1nq, 4000
3000 3600

86. LCP phpbrr 120000
116000

1.7. UngnUph hutrdtrrudnrlntlfr qnq,Ihg ptrtrurpqr{bgfrtr trbpLlu4ugr{ub qLutlfrtr unuu2uup!p U

urp41 nrtrpnrd hurtrbtrurdnqnqn npn2bg.

flpn2nrd N19/21-2

1. 2urrJrurpudfrtrtrbp'l,8,9,11 ,12,18,28,30,3'1,33,34,37,38,40,42,47,49,50,53,57,69,70,73,74,75

,76,81,82,85,86-h rJuun{ <tJb4[urup,] Uq0-htr tr 1u{urpudftLLbp

2,3,4,5,6,7,10,'15,16,17 ,19,20,21,22,24,26,27 ,29,32,36,39,43,48,5'1,54,56,58 ,71,78,84-1-r

"tlurunr{ 

(AUq (hLIu UrlC-hL 6tltrur1b11-frL unbrl qpurrlbgpru6 rJuutru![g:

2. Qnrr.hurpudfrtrtrbp' 13,14,23-25,35,41 ,44-46,59-68,72,77,79,80,83-h rfuun{ rJngnUpn

h ur rJur p b1 111 u1 tugu6:

3. UutrnLgbl unu2[b Lnbqn qpurlbgpr,ub durutrut4hgbbpfrL 3 nr2fuurnutrBUJhtr on{u]

ptr pru gpn uJ tr bp 14 ru1 ru gL b1 h p u r{bp n { tr ur fu u m bu r{u6 { tu u m ru pqpbp p :

4. (( albm. b!urlnrmtrbpfr !nrlfrrnb hr.upgnuJ trbpllrulurgtrI urnu2frtr rnbqn qpuqbgpur6'

hur.;mp trbpLlurlurgtrblnr op{u rlpn,.p1urJp durJllbmuLg hurpt,lulfrtr qurprnu.r{npnrplnLtrtrbpfr,

$ frtr urL u ur L1 urtr rlfr gngtr bp fr {bp ru pbpl ru 1:

s. (tuLdtrurdnqn{fr hru2np4 trfrurnp hpur{frpb1

bqpul.lugnrplnrtr urnurtrulnr op p:



Clrpnrtr{fl | npn2nuI. 14nr1d' 4, 4bil' 0:

1 .8 L fr u m frtr tr bp 14 ur hurLdtr urdn qn {fr urtr 4u rltr bp p :

(urLdb urdn r1n {fr tr ur [u urqur h'

'l Utr4urrltrbp'
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